664

SBC #m&Eh—Iiav

AU — R STK S U—X iR

D4

- N -
O
D1h7 d17 d2 /W T % D3
L2 L1
L
ety mgﬁ;m; up—hﬂ #:—)Szp,u@ *r—D)aw% 2?% g | Duw (PDCZD) b5
STK1605| 156 5 16 3.5 12.7 3x1 34 44 54
STK2005| 19.6 5 20 3.5 16.7 4x1 40 50 60
STK2505| 24.6 5 25 3.5 21.7 4x1 43 55 67
STK2510| 24.6 10 25 3.5 217 4x1 60 78 96
STC2510| 24.6 10 25 3.5 217 4x1 40 51 62
STK3205| 31.6 5 32 3.5 28.7 4x1 56 71 86
STK3210 316 10 32 5.556 | 27.1 4x1 67 85 103
STK4005| 39.6 5 40 3.5 36.7 4x1 64 82 100
STK4010| 39.6 10 40 7.144 | 36.7 4x1 76 9% 116
STK5010| 495 10 50 7.144 43 4x1 75 93 110
STK6310|  62.5 10 63 7.144 | 56.9 6x1 90 108 125
STK8010| 79.5 10 80 7.144 | 73.9 6x1 105 125 145




Ball Screw

D7 [OIL HOLE] o
L2
% <! %
| \ \\} : \ \\}
S © o9
s EED
T~ 90° 90°
L3 L3
[STK1605~4010] [STC2510] [STK5010~8010]
BT : mm
BEAEEREIE
D4 D7 L L1 L2 Ls BEAS ERTERS RS
C(KN) Co(KN)
4.5 M6x1 45 10 35 40 7.5 12.1 3000
4.5 M6x1 53 10 43 46 11.0 23.3 4000
5.5 M6x1 53 10 43 50 12.5 30.4 5000
9 M6x1 85 15 70 72 19.0 38.0 5000
6.6 M6x1 85 12 73 48 19.0 38.0 5000
6.6 M6x1 53 12 41 68 14.2 40.0 6000
9 M6x1 90 15 75 78 33.2 70.0 6000
9 M6x1 56 15 41 75 15.7 52.2 6000
11 M6x1 93 17 76 88 38.3 93.3 6000
11 M8x1 98 16 75 85 43.6 122.5 6000
11 M8x1 126 18 96 95 70.8 218.4 6000
13.5 M8x1 128 20 96 110 80.0 288.3 7000

665



